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w Why does the Gene bought a 286,489 is an odd Tom worked the
E number 13,543 notebook for $1.25 | number. How many | following problem:
3 have a different and a pencil for times greater is the | 0.8 + 0.7 and got a
E value than 13,4537 $0.10. How much 8 in the ten sum of 0.15.
S Explain your money did Gene thousands place
D thinking. spend? than the 8 in the | Use a concrete model
A tens place? Explain | to show if Tom was
Y Use concrete models your thinking. correct.
or drawings to
illustrate and solve
the problem.
T | Across-country | There are two 3’sin | Sanya wants to buy | Eileen is training for
H | race course is 3.25 the number a new binder that is a bike race. Her
: kilometers long. 2,033,541. Jessica $5.00. She has coach wants her to
g | Dan hasrun 1.4 says that the 3on | saved $3.60 so far. | ride at least one, but
p | kilometers. How the left is 10 times How much more no more than two
A | much farther does | the value of the 3 on | money does Sanya | miles each day. She
Y he need to go? the right. Esperanza need to save? knows that it is 0.4

Use concrete
models or
drawings to
illustrate and
solve the problem.

says the 3 on the
right is 1/10 the
value of the 3 on the
left. Who is correct?
Explain your
thinking.

Use a concrete
model to show how
much money Sanya

still needs.

mile to the park. If
she makes a round
trip, will she meet
her coach’s
requirements?







